
MPC408 Date:
 

6.4 — SolvingTrigonometric Equations UsingIdentities

4. Solve each equation algebraically over the interval 0° < x < 360°

a) sin 2x — cosx =0

ZSINKCOSY -COSK= O

cock(2sin% ~1 y>=O

COSX¥=O |2s)

X= 40% 240" | Siny > 4

  

ae 20° , 150°  

b)cos2x =0

200S"x -|+0

COSY =

COS’ a
Xe

X= 45°, 135", 2957, ais-

2. Solve each equation algebraically overthe interval 0 <x < 2n

a) 2cos*x — 5sinx -5=0

2 (1-sin*x)-Ssinx -5 +0
2- 2sin’y-Ssiny-5> 0

O= 2sin’x45siny +3
0 = (2siny +3)(sinx+ )

O= anne +3
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| SiIMY+L =O
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b)cos2x—5cosx=2 |e) 1 +cosx = 2sin’x

200sy -| -S@cy -2 t+ OSX = 2(\-cos*x)

(2008+ 1)(Cox% ~3) *O 2cos?x + COS¥—-| =O
2OSKt1=0

|

COS¥~3>0
2COSK —1)(COS¥ +1)

=

0
COSK > -'p

|

Coys (2C0Sx —1)(COSx +1) =0
CK +=0

X: 2r uy entaleny we a ae
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3. Determinethe error that the student madein the following work, then write the correct

answer.

sin2 = 1

 

Cannot“awvide by
2 on Woh idee.

   
Y= 60° 4 120°

 

lel 2y 0

Sing =|

B= 40°

2Y= 40
aml

oy
N
S
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4. Solve the equation 2cos 2x + 1= 0. Indicate the general solution expressedin

radians.

2 (2008"y -1) +] =O

dons*y -241=0

 

OLY = ‘| (oy = aS¥ = Cosy ;

we E, Sr K = 23°, 4
a
=, ~

 




